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(20 @ et fiA=B be a funclion. ,a;fmé whal 7 means _é_r‘

f fo be /}3/'£a//a’f & whal ¥ means For £ 7% be Saf/'ecf)'ve.
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/, Jie m/ed[/:/e // (%(1614)[1/—3’26/4-) [‘igé’f) f@(z) =5 K= 27

£ rs s.afr;ecfxva it (VyeB)(FxeA) [F&d =4]

YNNG _Suppose Fli)=1#x) . Then  3X, /- g = sz/m—a)
So SX{[XL_'Z«) = BXJ_(K;-'Z'), xl. 3X;X1—éx‘(*— -BX,X; éXg
2 — 6 X, = -6 X2 => >(/ = X5 . 7. f /i{_‘i';\')f/‘ed.zé/'l/é’,

(7) Take any Y& R-3Y  (Chovse X=_;;]@’.-3). 7her

X= 2/(1-3/y) is never z Since 3/y /s never o.

So Xe R-523  Alfso x /s wg//-/e#ﬁf/ bec. 4# 3 and

L) =  3x  — 3.2y M9-3)  _  &%/(4-3)
X —2 29f4-3) — 2 (2Y-z9+6)/(G-3)
= &Y Y-3 _ ¢y _ y .,

p 9—3 ~ G
Yevce £ is .s“ur&jé‘c;ff’ve_
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-/455-&}_”48 G BoA /s a funclion such /fhal qa/- 2y .
Now suppose Alx) = £ . Then 9/;(2(/D+ ‘9(/()(3)\

S (’q.g/)/x,) = {’-?f?f)é(a .l 5,4 [x,) = 7, C’(z)

%Aﬁw&é X, = X | So / 75 /A/'z/\e;:,f/ ve.
v
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Ag‘fmme A: 5—9/4 ix Z A{ﬂczl/bn S’M&’A ﬁﬁ.z/ f"A: Z-B'

Take any be B. Choose a= h(t). Then

£a) = LLAG)) = Fh)ib) = 25(6) = 6.

So £ /s 5‘46;;/5:/2//0«?
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Lel /Oéu) 5& The staternenl “&"-sn-1 s ﬁ//l//f/é/fé/uzf_
Srnce ~—5[f-”) —{= @ Is g//w.wé/e éy =y 77 Soflews
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fﬁaf Po) rs true.  Now Sot-,opo_re /7(;9) /sffae, 7 hen

é ~-5n -{ wz//éa &//V/Sfé/é’ éy 25 /\éw

—5hhH)-! = ¢. fé ~Sn—1) + 251
w___..,____.. L —
div. by 25 Arv- 5/ =5
- 5)0 {;n{-{— 5—()?*() --_/ f,u/// be J/Vz&/é/ﬁ éy .ZS'J -
P law) will be truwe_ . (VneN) [y — Plior] .

By We Frine. of %xz?%_,:____znd. we gel  (Ynen) P

fHewce 8" —sn—1 s divisiéle by 25 for all nell .
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1 we can Lond a bz)‘e_ozilérn fo P B,
[el F: Z1s E be detoned éy ¥ Fuy s X, (f X /¢

even ; and f/X) = _"(X-/) ¥ x Is odd. Them

/J Z+ﬁ£ - £EnzZ' s c,/édr/y a 5/)84//6/) P

7£ Z'N0dd —» En(z-7") is alv a ‘/J//éZ//O?? Since

%6 /omamg aré- d{;/omf and fég faﬂcﬁff 7€ dz’s‘/z)/ﬂf

fo wunion of Hese Fwo ,zwr/: of £ wz///praa/ute

biyeet sn  fraun Z o E. Hewe £ s a/Enamera,é/é_

Sl U, /s The SMfémum A F U is an uppér borvd of
A, and dy<su  Afor any vpper bound of A
(6) Lef E>0 pe gzv’fﬂ Thin Up—~E < U,. Srnce Us wag

fhe least bbp/?er bound of A, th-& cannol be ar

uppé’r éaana/ cﬂ/ /] So (3d é/?) (Z(a 5407) Also skncé

Ho was an wper bound of A (Vxeh) (x<to). So in

Parf/cu/dr asi,. Hence Us-E< A< U,, Since £>0

was arb. | it fellews That (Veso)(Taeh) (Uo-E<as Uo)




Ga)| £IA] ={Ha): acAf £ [c] = {aeX : HeCF

Gl YES . Zef ye f[ﬁ] £/B] . 7Z€r: yg /[/i] .am/

yé FB]. So we can /rw{ an dZé‘A Swtels 7hal

Y= ) ana/ (17’565)[3’# )] . Since ¥=Fl)
ﬂ/ﬂi{ L!?’éé'_g)[y #Hé}] A (anf?af be th 5 So

ae A-B. jfewce fae FLA-E]. Bul y=S@)

So 357[’[14'5_7F Szr?fﬂf__ Y was an afé/_;/vzzr/v

pglement of £IAT- FIBT, 1 Solbeis Heal FA] - FIET
c f[A-8].

ENNO. Lel £:5-2,0,21 — §0,4] be defined by
Foc)= X2 Take A= §-2,0 and B=521_ Then

FA-B8] = f[2,0] = §/2), o)} = §0,43

&  LIA)- 8] = fi-z.0f] - flE28] = (£c2), o)} - §E@)}

B & {‘92 4] b 1&"“] ""__{Q5 ?h_ {Q{_f] = [[&_{?] o

0, /[4-3]54 F[A] - £18] in genera/

//d/d///_éona/ (2mmenls & alternatives amm/érs
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(1) We had to show (Vve K1) (G xe £-21) 60 =5)

We ﬁmna/ X éy So/wnq He €¢Mézll/0/? /ﬁ\’) =Y for X in

terms of ¥ Sx/K-2) = Y = 3X= xXY-2Y=> 29= x(4)

= X= 2Y/(/-3). we had 1o check Bal X #2 becouse

X was Su/)/?ﬁ.l‘z“d/ / be o meém ber d/ K- )’rzj /Vd?(é’ alo

Tal S/z?:e Y#3, X was well-defined .

46)|| We -‘c;?n %}vw{ d/Zé’f J‘{)fc//'on: %zm 2" %4 F. /e/

\£: ZnE>E, 4W)=-X and £: 200> E, L&)= x-I.
|/} we pul £= Luh  Then £ will be a bjectiinborm Z74E

e £LAT = fbeYi TaeAlm=4)} | ,[i'[cj: faex i (FbeC)f@=b)f




